1. DR Z B ACE 22 TREEE 2 100 km/hr 2R ER AR JRIEHASIER - il 2 (LS RE A
FAEBIRE FSERRAILE 45 % LT » S LR AG e BRI AL (DIARERER ne ((BE2AE
HHARENAE) (QFVEER N BNAEEHA LTSRS QUEFEER N (ARSI i g A ) 55
= {EER D - A = (EBER ARG 758 = (ERCR TP — (SR A (R > BT — iR

Z REHERAE R WPEE N ZR AR (30 %)?

2. FEAEM—RE 0 A5 Yo EhEE P o Bo ks = (8 EEERERE IR © (D EIIR i A E s ]
(2)HmAG S RS (3)ER B 2= SR RIS > At = (EFERE & R Z /o Bic EE BT R B 015 = (EFE
RE W BE TP — (i % - BR DI —RE B 2 IR IRNEERE N IREE N ZR BRI (20 %) -

3. fEREVLIELEERT - AM{ERREELNEEZE (25 %) °

4. fefErREENRR A ? ASZRYIFEIT R 25 %)?



